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Pulitzer Prize is given for distinguished
achievements in which of the following
sectors?

(A) Sports

(B) Medicine

(C)Journalism

(D) Photography

Who among the following is the current (2015)
captain of Indian Women's International
Cricket team?

(A) Mithali Raj

(B) Anjum Chopra

(C)Karuna Jain

(D)Jhulan Goswami

‘Around the World in Eighty days’, an
adventurous book was written by which of the
following authors?

(A) Chaucer

(B) Cervantes

(C)dJules Verne

(D)H. G. Wells

Grammy Awards are presented for
contribution in which of the following fields?
(A) Sports

(B) Literature

(C)Music

(D) Medicine

1.

Frafafag § & f 8 § afofeg s=fegi 5

(A&

(B) sirarfer
(CywFTTeaT
(D) Brérarr

(2015) = Puffaa ¥ & 9 &2

(A) sty o=t
(BERURIEED
(C)m=urT 3

(D) e et

‘FIIVE T q7E 3 UH T, ATHF TF ATEALN
o Refeta § 9 B das g e w4472

(A) =TT

(B)ma=era

(C)ew

(D)H. G. F=1

et srared et & & W & § aree F
fore s vy oy 872

(A)&=

(B) &TfRed

(C)wfia

(D)frafer
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5. Who among the following was the director of 5. sty frem e ¥ e e § & v e

the film 'Sholay’, one of the successful rem & s PR d aaa ar
cinemas of Indian film Industry?

(A) Manmohan Desai (A) FHIET ZETE

(B) Ramesh Sippy (B) THer faeft

(C)B. R. Chopra (C)B. R. Srw=T

(D)Shyam Benegal (D) #9477 =TT

8. Name the plant used to treat blood pressure 6. I T FT ATH ALY ST THATT F IUHACH F7H
and found only inIndlg;?: ; 3 ST & S et A F A S g2
(A) Jamun ' (A) ST
(B) Kachnar (B) F= T
(C)Babool (C) ==
(D) Sarpagandha (D) =rivre

7. Jeev Milkha Singh represents which of the 7. St frear g o 3o & Fafafa & & B
following sports across the globe? & = wfafAfee Fw &

(A) Hockey (A)ETH
(B) Golf (B) e
(C)Athletics (CymorafeFa
(D) Tennis (D)

8. Who among the following was the lyricist of 8. wow=hT MefAae fhem % siese fasar fig w7
Oscar winning song 'Jai Ho' from Slumdog g Fflasn Paffm § g s= 82
Millionaire?

(A) Gulzar (A) T

(B) Javed Aktar (B) STa 1T
(C)Rama Rajyam (C)T™H Tr=aq
(D)Majrooh Sultanpuri (D)w=i&g gearair
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9.

10.

il

&

Four Indian Scientists of Aligarh Muslim

University received the William Harvey Award

2015 for their work in the field of

(A) Nutrition

(B) Infectious Diseases

(C)Haematology for rare Haemoglobin C
Diseases

(D) Gastro-Intestinal Diseases

‘Wings of Fire', is the autobiography of which

of the following presidents of India?

(A) Pratibha Patil

(B) Shankar Dayal Sharma

(C)Dr. A. P. J. Abdul Kalam

(D) Neelam Sanjeeva Reddy

‘Alam Ara', the first Indian sound film was

directed by which of the following directors?

(A) Dadasaheb Phalke

(B) Ardeshir Irani

(C)Bhogilal Dave

(D) Mehboob Khan

Which of the following is the first colour film

produced in India?

(A) Kisan Kanya

(B) Gopal Krishna

(C)Devdas

(D) Shakuntala

9.

10.

g

12.

HEAE HEAR TAFHE % T AT FATH
F1 e &= # 3 w0 % Fore fafemm g smare
2015 9TH garr?

(A) e

(B) HETTH T

(C)Tetw Ermartaa =t T ¥ o wfee e
(D) Fregr-Sefeemar o

‘fover ot v g F RERE d d T m
wrgafd T aremwar £7

(A) iR wrfeer

(B) si=h¥ ZarTer 91T

(C)=t. A. P. J. 5ge e

(D) wsfiar g

TIH e Frere feen, arem s Fafetee
# 7 o Frdors g fEfor o o ofr?

(A) STETHTEH HTeh

(B) smafarT zarT

(C)#rfrerrer =3

(D)#ega &

s # T gt it feen Fafefaa & &
I T A2

(A) BT 7
(B)rrTet eor
(C)Tm=ma
(D) erer=T
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13.

14.

15.

16.

17.

The annual international film festival is held in

Cannes every year. In which country is the city
Cannes located?

(A) ltaly

(B) Spain

(C)France

(D)Belgium

Which of the following books is written by

Rabindranath Tagore?¥ .

(A) A passage to India

(B) Freedom at Midnight

(C) Geetanjali

(D) Saraswati:- A tribute to Wisdom of India

Which among the following vaccines was

introduced recently in India?

(A) MMR

(B)DPT

(C)BCG

(D)Rotavac

Which of the following weather satellites was

successfully launched by SpaceX Falcon 97

(A) Advanced Composition Explorer (ACE)

(B) Dragon Triana

(C)Ravine Rover

(D) Deep Space Climate Observatory
(DSCOVR)

Who among the following is the author of the

book 'Fall of Sparrow'?

(A) Indira Gandhi

(B) Salim Ali

(C)Amrita Pritam

(D) Mahatma Gandhi

13.

14.

15.

18.

17.

Frid siqeisir ffew wres 1 | ufad
ST T st 21 e ore] et § &
By 3o o Ram 82

(A) Ze=tT

(B)¥=

(C)wr=

(D)aferaw

frafafem # & #m o s Tl 3 g
Prat T 32 e

(A)T T 7 g

(B)Fr=w w= fismee

(C)fratsret
(D)mrTEadT:- v feege 7 fawew wfw 2
ATEA § 2 o & e JF frefre (Fen) o
i 7E 27

(A)TH TH AT

(B) =1t &

(C)t =t sfir

(D)TTeTE®

el § & fr diow 39Uz 7 aEearEE
FEX w9 Z177 gl (Ate) B an?
(A) TEaTES FFTSeE TEE T (ACE)

(B) 37 feamar

(C)3fa= T

(D)# = FaTEHE sHfewaz< (DSCOVR)

et AT T TEE o o o §
£

(A) e st

(B) #refiey areft

(C)zrger sfaw

(D) wETewT iy
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18. Which of the following sports women broke the
national records in the 3000 metre
steeplechase in World Athletics
Championships in Beijing?

(A) Tintu Lukka

(B) Sudha Singh

(C) Lalita Babar
(D)Jaisha Orchatteri

19. Oscar awards are conferred annually by which

of the following organizations in United States
Of America?

(A) Twentieth Century Fox
(B) Metro-Goldwyn-Mayer
(C)Academy of Motion Pictures
(D)Research in Motion Pictures
20. P. V. Sindhu lost to which of the following
players at the finals of Denmark Open 20157
(A) Carolina Marin
(B) Wang Yihan
(C)Li Xuerui
(D)Tai Tzu Ying
21. 6COz + 6H70 + light - CsH120¢ + 603
The above equation depicts
(A) Rusting
(B) Painting
(C)Burning
(D) Photosynthesis

18.

19.

20.

21.

T # gf 7o wamfeay Ffegemfa # 3000
iz it ey § FafefRe § & G afzer
et & wfig Retd ey ar?

(A) Tz
(B)qar fig
(C)=ferar amaT
(D)Srar stz

HYH T sy I ATiE w7 § Aten aard
Freforfra # & frg dre g Ro e &2

(A)afene 8w

(B) Fr-wres - faw
(C)ardhsdT =it Hror T
(D)R= =7 wrer st

SHETH AT 2015 ¥ Freed 7 P V. fig
Frefafes & & G e T aw o
(A) FrforaT arfee

(B)atT Rgr

(C)#f qEweg

(D)yars 5 fifr

6CO; + 6H20 + light - CeH1206 + 602
I FHHC 47 Zertar 7

(A) =T =TT

(B) e g
(Cystrr
(

D) TFTerHE T
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22,

23.

24,

25,

26.

The product of time period and frequency of a
wave is

(A)Less than 1

(B)Equal to 1

(C)Greater than 10

(D) Infinity

Which of the following statements is TRUE
about centipedes?

(A) Centipedes have 100 legs only

(B) Centipedes have varying number of legs
(C)Centipedes have 1000 legs only
(D)Centipedes have 10 legs only

In normal atmospheric pressure, water boils at
what temperature?

(A)45 °C

(B)80 °C

(C)100 °F

(D)100 °C

Frog is a/an

(A) Mammal

(B) Insect

(C) Amphibian

(D)Reptile

The process of conversion of water to water
vapour is called

(A) Sedimentation

(B) Evaporation

(C)Condensation

(D) Filtration

22:

23.

24

25.

26.

Hmﬁwwﬁaaﬁ?mﬁw

(A)1 & %7 grar 2
(B)1 F av=e grar &
(C)10 # =rfers grar &
(D)3 grar &

W%aﬁﬁﬁwﬁﬁaﬁ#ﬂﬁwmaﬁrg?

(A) = 5 F=er 100 9% g &

(B) era= F 43 i s fra-firy it 2
(C) 4= & F=7 1000 ¥ g &

(D) <1797 & Faer 10 97 2y &

HIHT ATTAVESAT ZaT9 & 97 f arosqr o
IFAAT &7

(A)45 °C
(B)80 °C
(C)100 °F
(D)100 °C
i5F UE

(A) =Rt &
(B)F= g
(C)gwz=w &
(D)FdgT &

W%wﬁwﬁw&maﬁrwm
STET 87

(A) &firze
(B) zatater
(OEz=r:tr)
(D) ez
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27

28.

29,

30.

Ducks rub the oil from preen gland, near its
tail, all over its feathers. This helps it to remain
(A) Warm

(B) Colourful

(C)Heat proof

(D)Water proof

The pH scale ranges from '
(A)3-14
(B)0-14
(C)7-14
(D)5-14

Perspiration helps in cooling the body because 29.

the

(A) Water evaporates resulting in heat loss of
the body

(B) Water evaporates resulting in heat gain of
the body

(C) Water sublimes resulting in heat loss of the
body

(D)Water condenses resulting in heat loss of
the body

In rusting Process, iron, water and oxygen

react to form:

(A) Oxygen

(B) Hydrated iron oxide

(C)Carbon dioxide

(D)Hydrogen

b7

28.

30.

x

aﬁw%%mwmvﬁa%ﬁﬂﬁ
m?rrm“rﬁ'@"rwvmﬂ%%_) TE IR A e &

(A) T T

(B) Tt v

(C)am Trefr v 3

(D)sret Teft 2

PH e i1 Yo7 .y 32

(A)3-14

(B)0-14

(C)7-14

(D)5-14
?ﬁmaﬁﬁﬁ%ﬁ#mm%ﬁ%

(A)Wﬁﬁmmﬁar{ur@méﬁm%ﬁmaaq
srﬁ‘{iﬁnﬁ%ﬁ%

(B}m?ﬁwmsnﬁww@mgﬁwrrﬁvrmm
mﬁrﬁﬁm%

(C)WWWW@HT%F@R{%WW
E Y T medy &

(D) TIHY seftarer Bt & v wforraresry orfie
A1 T ot &

T AT T SR, Y o i i o
waaﬁ%ﬁfrzw%ﬁmw%%‘?

(A) =it

(B) ETe3e® s sitaree

(C)FTET zTzarFT=e

(D)gr=grom
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31.

32.

33.

34,

35.

The angle between the two refracting surfaces
of a total reflecting prism is

(A)90°

(B)45°

(Cye0°

(D)30°

Which of the following frequencies of sound
CANNOT be heard by normal human beings?
(A)30 Hz

(B) 30,000 Hz

(C)300 Hz

(D)3,000 Hz

Amphibians can

(A) Live in both water and on land

(B) Live only on land

(C)Live only in water

(D) Always fly

The product of the reaction given below is
2NaCl + Fz -+

(A)2NaF + Cl,

(B)2NaF + CI

(C)NaF + ClI

(D)2Na + Clz

Why do frogs have sticky tongues?

(A) They can croak better

(B) They can jump easily

(C) They can catch the prey easily

(D) They can swim well

32.

33.

35.

. T OO 9Tt frew ¥ st waw F fiw wv

(A)S0°
(B)45°
(C)60°
(D)30°
T ATHTT A9 5137 Mefertes # & @i & £

=t argf TET gt 57 Tt
(A)30 Hz

(B)30,000 Hz
(C)300 Hz
(D)3,000 Hz

ITAAAL
(A)ster A T8 AT 9% @ T E
(B) ¥t 1ff v w7 wwa §
(C)Fa 5T & Tg Thel &
(D)g#e 3z 7ha §

. A dr e aRfrm e 2

2NaCl + F; -
(A)2NaF + Clp
(B)2NaF + ClI
(C)NaF + ClI
(D)2Na + Cl;

Het At sfra FrafRr w4 2t £7

(A) T =TT Fit AT gt w9 F F qFA §
(B) = =maTt & F7 aaa #

(C)F Forre sraTeft & w7y &

(D)7 st g & A%\ &

Page 9 of 32



70D

36.

ar.

38.

39.

Birds have thin, hollow bones because it

(A) Helps to eat insects '

(B) Makes it easier to fly

(C)Helps for walking

(D)Helps in singing

Balance the equation:

Fe + Cl. = FeCls

(A)Fe + 3Cl> » 2FeCl3

(B)Fe + 2Cl; -+ 2FeCls

(C)2Fe + 3Cl; —+ 2FeCls

(D)2Fe + 2Cl; —+ 2FeCls

There is a bimetallic strip with two different

metals riveted together, one on top of the

other. The top metal has higher coefficient of

thermal expansion than the metal at the

bottom. When the strip is heated, what

happens?

(A) The strip's temperature does not change

(B) The strip curves with the top metal at the
outer side of the curve

(C) The strip curves with the bottom metal at
the outer side of the curve

(D) The strip does not curve

Alkali turns

(A)blue litmus paper white

(B) blue litmus paper yellow

(C) blue litmus paper red

(D)red litmus paper blue

36.

37.

38.

39.

ffEat £ zfEat waedt, Frach 2t & i
(A)TE Fitz =T # Hag FAT
(B) 7€ T=AT AT TATHT &
(C)¥E 9= ¥ wag FLdl &
(D)7 T H 7eg AT 2
T T Hge fifr:

Fe + Cl; = FeClz

(A)Fe + 3Cl, » 2FeCls
(B)Fe + 2Cl; - 2FeCls
(C)2Fe + 3Clz —+ 2FeCls
(D)2Fe + 2Cl; —+ 2FeCls

e fRuTed v 2 Forerdt & forwy st ww g F
F2 Fde & A #1 S Aot arg # A
ForeaTe Tqorier Ay et g & wrfde ) = od
T foRaT ST & 9, 2T 82

(A) TET FT TTTHTT AL FEerar

(B) T F AT 7 H F AT & F
AT TET T B @

(C) T % AT 7o & A aAreft ey F ATy 9 Y
EIE S

(D)8t 21 i 2 &

&L 4T 95 AT 87

(A) #ter fereser o =1 9 o
(B) et forzmrar it ofier
(C)rt Fremar %1 ofrer #
(D)= forzwe =i fter
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40.

41

42,

43.

What is the balanced equation of the reaction
between hydrogen and oxygen?

(A)Hz + Oz = 2H.0

(B)2Hz + Oz = 2H:0

(C)2H: + 202 = 2H,0

(D)2H2 + Oz = H,0

Match the following events with their
corresponding year of happening.

a) Minto-Morley Reforms 1) 1942
) The Cripps Mission 2) 1909
<) Provincial Autcnomy 3) 1946
d) The Cabinet Mission Plan [4) 1935

(A)a-2, b-3, c-4, d-1

(B)a-4, b-2, ¢-3, d-1

(C)a-1, b-2, ¢-3, d-4

(D)a-2, b-1, c-4, d-3

Which state declared Blue Mormon as the
"State butterfly"?

(A) Uttar Pradesh

(B) Karnataka

(C)Maharashtra

(D) Tamil Nadu

The election in its present form, has roots to

which Act of British India which introduced the
direct election in British India?

(A) Government of India Act, 1919
(B) Government of India Act, 1912
(C)Government of India Act, 1915
(D) Government of India Act, 1935

Page 11 of 32

40.

41.

42.

43.

BIESII A st % i wiafiar i @qfe
FHETF FA ot 87

(A)H2 + 02 = 2H,0

(B)2Hz + Oz = 2H,0

(C)2Hz + 20, = 2H,0

(D)2Hz + Oz = H20

Rufefad szardt o1 e s m Fad &
Frferm

a) fer-wie g 1) 1942

b) foem s 2) 1909

c) wiT T 3} 1946
d) Ffawrs e g |4) 1035

(A)a-2, b-3, c-4, d-1
(B)a-4, b-2, ¢-3, d-1
(C)a-1, b-2, c-3,.d-4
(D)a-2, b-1, c4, d-3

B 7157 7 = 7w o R Fer
(A) 39T w21

(B) Ttz

(C)mgry

(D)afierTe

FAT F TS Ty 7 g Aty g
T erfarfes 7 & ey Bfrer ara # gers
T oF F7?

(A) w3 T st A, 1919

(B) #ree =T wiafagy, 1912
(C)wra weaT wfafRaw, 1915

(D) sTee T arfafaey, 1935
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44.

45.

48.

47.

In the Battle of Wandewash; troops of which of
the following kingdoms fought?

(A) British and French

(B) Maratha and Nizam

(C)Mughal and Maratha

(D) Sikh and British

The Union minister Mr. Ravi Shankar Prasad
has recently released a postal stamp on which
Maurya King?

(A) Ashok

(B) Bindusar

(C)Chandragupta Maurya

(D) Chanakya -

A soldier attacked on a British sergeant, due
to which the First War of Indian Independence
broke out. Who is the soldier?

(A) Tatya Tope

(B) Rani Laxmi Bai

(C)Mangal Pandey

(D) Tipu Sultan

During the Quit India Movement, which

statement or call given by Gandhiji became a
national slogan?

(A) Now or Never
(B) Do or Die
(C)Direct Action

(D) Not now but later

44,

45,

46.

47,

FiStarer it wzTs § i o Y a7 727 o2

(A) Forfeer s s
(B) wereT @ fsme
(C)¥Te S FrraT
(D) o sfiw farfeer

Far Wl oft < i A A 2 € ¥ R 0
YT 97 U =1 fee 9T o 272

(A) &9

(B) fargae

(C) =

(D)=TTFT

uF Rt & v e arstz o g P ar
vt =rstg # oy el E=eaT SO o g
7| g AT i 27

(A) e =

(B) T ety ars

(C)irer wyve

(D) qeaTT

AT BIET AR F 0 Tt g By
FITHT AEATH UF TR AT G 7477

(A) srsft =T Fosft 1Y
(B) =T a7 /LY

(C) et ey

(D) =it =i fohg amz &

Page 12 of 32



70D

x

48.

49,

50.

51.

Dr. Malleshappa M. Kalburgi (77) was shot
dead by 2 gunmen at his residence in
Dharwad district of Karnataka on August 30,
2015. He was a researcher of which
Language?

(A) Kannada

(B) Malayalam

(C)Tamil

(D) Telugu

The Government of India Act, 1912 addressed
several problems related to which major
development in British India?

(A) Linguistic reorganisation of States

(B) The treaty of Oudh

(C)Annexation of states

(D) The reorganization of Bengal

Nepali language was included in the eighth
schedule of the Constitution of India by which
of the following Constitutional Amendment
Acts?

(A) 71t Constitutional Amendment Act

(B) 63 Constitutional Amendment Act

(C) 86" Constitutional Amendment Act

(D) 812t Constitutional Amendment Act

The Islamic New Year starts on which of the
following months?

(A) Ramadan

(B) Muharram

(C)Safar

(D)Rajab

48.

49.

50.

51.

FATER & wTeaTs et § . wrecrarear M. Feaft
(77) % 3% SATH 9T 2 FHATRAT T 30
STET, 2015 FT g7 2 41 7% oft & ey v ¥
sTTerat 47

(A)F=E

(B) ArergTerH

(C)afh=r

(D)

AT HLHTL AT, 1912 § fifrer wea &
T THE A & 94T $= qeema w1
EENEGREDIE i vl

(A) ATt STETE 9Y TS e

(B) sr=rer fif Hfar

(C)zr=at &1 famT

(D)=t FT qetaT

T % " A sredt gt § Soveft s
FafafeT & & Py @i gera afafias arer
e 6t 1€ <7

(A) 717 e wotrer srferfaay

(B) 637 sfawem weiram srfarfay

(C)867 dfaem weirgw srfafagw

(D)817 wifaer deire wfafaay

FEATH AT A R & & R arg # s
T 82

(A) =TT

(B)#rETH

(C)Tw

(D) Tter
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52.

53. Who among the foliowing is the Minister of

54.

55. Who among the following is the most famous

Which famous legendary sitar player and one
of India's most esteemed classical musicians

was associated with Beatles, an English rock
band?

(A) Zakir Hussain

{B)Ravi Shankar

(C)A R Rahman

(D) Pandit Debu Chaudhuri

Culture, Govt. of India (Independent Charge)
in the current cabinet of Prime Minister Mr.
Narendra Modi?

(A)Dr. Sanjeev Kumar Balyan

(B) Shri Krishna Pal

(C)Dr. Mahesh Sharma

(D) Shri Sudarshan Bhagat

Which of the following festivals is devoted to
the victory of the revered warrior Goddess
Durga, over the evil buffalo demon
Mahishasura?

(A) Makar Sankranti

(B) Dussehra

(C) Diwali

(D)Guru Poornima

tabla player from India in the world?
(A) Allah Rakha Rahman

(B) Sri Lalgudi Jayarama lyer
(C)Beghum Akhtar

(D) Zakir Hussain
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52.

53.

54,

585.

et & & 29 & sftg drofos faw s
A AT % gaY FEATT ATefiT St

w, Efter <t 3, dizew & e 4

(A) TR g
(B)*f3 sime

(C)AR aT

(D) Ffew & frerdy

warreT oft Fee A F adur S 6 de
HoAY, WO AT (Fray ) et 8
T 82

(A) =T Hstta 9T Ao

(B) =T o uter

(C)=t wger et

(D)t Hash

Refefas & & w7 a1 oer 927 9ig 3@ o

BT A ¥ st W e wfRey W e
i swfda &7

(A) =T Tt

(B) =srEzr

(C)fearsft

(D)= gftteT

TR & A ¥ wad arfi wfhg awer A
Frafofas & & w7 2

(A) STeeTTE, T TEHTH

(B) =T ATt ST sz

(C)amH wreq

(D)wrfa gé=
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56.

57.

59.

‘Makar Sankrant’, an important festival in
Hindu religion falls in which of the following
months?

(A) March

(B) April

(C)dune

(D)January

Which of the following dance forms is
performed during harvesting season in West
Bengal state of India?

(A) Pulikali

(B) Karakattham

(C)Dollu Kunitha

(D) Tusu Dance

. Which of the following festivals in Arunachal

Pradesh involves the sacrifice of fowls, eggs
and animals to the Gods?

(A)Dree

(B) Solung

(C)Reh

(D)Losar

Which of the following musical instruments is
associated with Hindu Deity ‘Lord Krishna'?
(A) Pakhavaj

(B)Vina

(C) Sarangi

(D) Murali

56.

57.

58.

59.

Wwﬁ"a‘r%@aﬁﬁﬁmaﬁwé
Arafafe § & A ¥ AT &2

(A) 7T
(B) I
(C)IT
(D)sa

w%mmmﬁmaﬁ’rﬁﬁ%%
mﬂ%ﬁmﬁaﬁ%ﬂﬁﬁﬁmww

ST E?

(A) TefveRT

(B) FTHTEH

(C)=rg FfaT

(D) T

srevrTarer e # FwfatEd F F T F e H
et i e, 95t 4 STTeETT T AfEE
oy STTET 7

(N

(B) T

(€7

(D)=THE

Freforfr & & i ar wfe ave, g
ST o & AT 87

(A) TETas

(B

(CymTEft

(D)FTt
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60.

61.

62.

63.

Which of the following organizations annually

organize “Bharat Rang Mahotsav (BRM)"?

(A) National School of Drama

(B) Ramakrishna Mission Institute of Culture,
Kolkata

(C)National Gallery of Modern Art

(D) Sangeet Natak Academy

Which article of the constitution abolishes the

practice of untouchability?

(A) Article 17

(B) Article 14

(C)Article 15

(D) Article 16

What is the term given to the action by the

President in which he is not taking any action

for an indefinite time on any bill or act?

(A) Veto description

(B) Veto indefinite

(C)Pocket veto

(D) Veto judgment

What empowers India to either acquire a

foreign territory or cede a part of its territory in

favour of a foreign state?

(A) Sovereignty

(B) Secularism

(C) Socialism

(D) Democracy

60.

61.

62.

63.

FreferfRm # & 9 a1 w@vey s =7 F
T HETHT (BRM)” FT ATH IS F74T 27

(A) FTT T Sl ST

(B) Troeer e ERese St Fodw, Fiewmar
(C)eme Frerdy st wide ard
(D)#fTe ATes vy

HIALTT T FIT AT Ao AETITAT £ TAT T
(A) &T=== 17
(B) =22 14
(C)s =27 15
(D)9 =27 16

g gTeT Ut FTEaTE T4 1 4T Fgl v &
St =g feft off e a1 e o afafrsrfa

T % o S wréard 78 wy £2
(A) 12T FRfEsperT

(B)feT L2fvm=

(C) e #12r

(D)Fi=T Feriz

e et dr sftpdiar o 3 Forg am w Rrsf
59 F T H 9 & F1 0F fRear At F e
AT i FT 9T1%h F2T7 HTam 27

(A) srga=T

(B) geifaterar

(C)HHTSETE

(D)=
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64.

85.

66.

67.

¥

Who became the first judge in India to be

impeached by the Rajya Sabha for

misappropriation of funda?

(A) Soumitra Sen

(B) Suchitra sen

(C)Sumit Sen

(D)Shaurya Sen

What is the law term given to injuring, beating
or unlawful imprisonment to make a person do
something that he does not want to do?

(A)Duress

(B) Compulsion

(C)Magna karta

(D) Detention

What is the term given to the bill which is
introduced by any member of Parliament other
than a minister?

(A) Private bill

(B) Individual bill

(C) Objection bill

(D)MP bill

In which case against Union of India, the
Supreme Court of India held "A state which
doss not recognise any religion as the state
religion, it treats all religions equally"?
(A)S. R. Bommai

(B) Keshavanand

(C)LIC

(D)Madhav Jiwaji Rao Scindia

64.

65.

66.

67.

AT ¥ A FIT & e =i ¥ e v a7 57
TET FART FOA F (o0 wrerear gry werfen
FEATIT AT 977

(AR

(B) g &

(OLELEE

(D)ot &7

T STTE T F1E TEAT F, N # qr - wmr
&Y H FETE T F F F0 F 2w e
FIAT ST A FLAT AG) ATEAT &, T ¥aw W= F
=T FTE?

(A==

(B) Fae7917

(C)Fam Frat

(D) REer

e W 3 e e ¥ Ol off ey ey g
o1 B 1 i Ay w82

(A) ATt A ds
(B) == fme fagras
(C)zmafzr frdrrs
(D)MP fagrrs

W #9 F ez P wre &, v % sgaw
AT & T AT U T S 7 & 3 =9 &
et oft et i i v, el ot & war
ST FAT 272

(A)S. R. 9197%

(B) FsraTee

(C)LIC

(D) wrere sfrastt o= fifamr
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68.

69.

What amendment was made by the Fiftieth

amendment of the Indian constitution?

(A) Technical Amendment to curtailment of
fundamental rights with respect to security
personnel, protecting property and
communication infrastructure

(B) Extend reservation for SC / ST and
nomination of Anglo Indian members in
parliament and state assemblies up to
1990

(C)Place land reform acts and amendments to
these acts under Schedule 9 of the
constitution

(D)Amendment to negate judicial
proncuncements on scope and applicability
on sales tax

Who appoints Governors and Lieutenant-

governors for a term of 5 years?

(A) The President

(B) The Prime Minister

(C)The Vice President

(D) Parliament

68.

69.

AT Hem % r=rea ety g B
T werrere AT T 972

(A) T T, wafy Y o s g9
HAHTHAT % H2e F wifer wfdered 6 v
T & forT ae ey defreT

(B) =T StTfa/era e ssrfa % R sreer
F1 AT 4T 1990 7 #wg 3w oy
e # vt SRa wwt F A

(C)HRre Fir st 9 % a=a i game
sferfAgw s 37 e ¥ s #r wamT

(D)t F v = sy T 1 AR
ot FT TR % R wefre

A Sl Aftedz T #1 5 7 i ot F
ferg #iw frgfen #ar 87

(A) g

(B) warrrw=ft

(C)=T Trgafy

(D)sw=
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70. Which Fundamental duty has been added to
the Indian Constitution by 86" Amendment of
the consuwation in 20027
(A) To value and preserve the rich heritage of
our composite culture

(B) To protect and improve the natural
environment

(C)To develop the scientific temper,
humanism and the spirit of inquiry and
reforms

(D)A parent or guardian should provide
opportunities for education to his child
between the age of six and fourteen years

71. The President can declare three types of

emergencies. Which of the following articles is

NOT related to it?

(A) Article 352

(B) Article 356

(C)Article 123

(D) Article 360

72. What was the objective of first amendment of

the Indian constitution?

(A) To fully secure the constitutional validity of
zamindari abolition laws

(B) Removing the upper population limit fora
parliamentary constituency

(C) Restrictions on property rights and
inclusion of related bills

(D)Re-enact entry 33 of the concurrent list in
the seventh schedule with relation to
inclusion of trade and commerce

70. wfergT ¥ 867 Helrer F 1T Wiy Wity § 25
T HIfor Fler 2002 # sy 137 077

() EaTE Tl et £ ayg e 1 ez

(B) ST e warfawor it vaT she 38 Az AT

(C)a=freF framsr, wrereraTaTs of st she qame
i AT FT A

(D) AT e 3T wf¥rarad #1 av wg & Tz 4
1 o F A= F a5 #r rer F smae wwEw
FLAT ATRT

71, gl i ww i wrre Rafdt £ S w
A | T & T AT Ao T el 8 27

(A) s17=27 352
(B) sr=a= 356
(C)sr =27 123
(D) &= 360

72. AT F WA F wme ssfver F7T 3Rew F7 917

(A) STHTRTE Toger et it e oy 7
T T A R o

(B) T HEETT weraTaT-r ¥ Ry e £
ST AT A ZeT

(C)FITRY F stforre ww e s wafdg
Pt &1 enfirer fmar s

(D) =TT S sy ¥ anfier w3 waer &
ATt ST F Tt gt # arfyer 33 9
e 7 sfafafi gt
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73.

74.

75.

In which case Supreme Court held that the
preamble is not an integral part of the Indian
constitution and therefore it is not enforceable
in a court of law?

(A) Berubari case

(B) Brij Mohan case

(C)K. M. Nanavati Case

(D)Ram Bahadur Case

Preamble is based on which of the following
proceedings that was drafted and moved in
the constituent assembly?

(A) Index

(B)Laws

(C) Objectives Resolution

(D)Inferences

What was the significance about the date 28th

March 1989 and 61st Amendment?

(A) Article 356 amended to permit President's
rule up to three years in the state of Punjab

(B) Age for voting was reduced from 21 to 18
years

(C)Provides Right to Education until the age of
fourteen and early childhood care until the
age of six

(D) Exempt Arunachal Pradesh from
reservation for Scheduled Castes in
Panchayati Raj institutions

73.

74.

75.

TTH § g ATAe § IgaW S § g "/ 6
TEATAAT STEAT HTAETT T U ATaTe o7 T8f
g 3T T9 TR g SIrITerT H waaA e A a8t
&

(A) ST JTHET

(B) fersreiree ATae

(CYK. M. FTaTert srreger

(D) T =818 ATH=T

TETEAT §7H F PR ST I Aramie & st
" T F geier far BT T O e e
o w912

(AT

(B) fRarr

(C)F=7g TFe T

(D) Fresef

At W 28, 1989 3T 617 Hafre F arv

AE FT AT?

(A) T TT57 F A |1 @ g eme
Fafa % for arg=am 356 F weire #i w8

(B)FAETH F forw 39 21 ¥ 521 %7 18 1 it

(C)farer =t wftrre sieg wre fit sw v i 2
a1 F 37 qTF TAIT F TG FT IFITH
FATE

(D) TETHT Trot HeTsR F s stfeat F fro
HTCEATT & ARVTAA WAL HI e AT
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76.

T7.

78,

79,

Which bill CANNOT be returned by the
governor for reconsideration of the state
legislature?

(A) Ordinary bill

(B) Money bill

(C)Amending bill

(D) Private bill

Election for the members of the Rajya Sabha

is carried out using which of the following
means?

(A) Universal adult franchise

(B) Single transferable vote system
(C)Nomination by Prime Minister

(D) Single non-transferable vote system
Who among the following can suspend the
right to move any court for the enforcement of
Fundamental rights during emergency?
(A) The Prime Minister

(B) The Chief Justice of India

(C)The President

(D) The Chief Election Commissioner

Who became the first ever Governor to be
questioned by CBI?

(A) Bharat Vir Wanchoo

(B) Sheila Kaul

(C)M. K. Narayanan

(D)Sheela Dixit

76.

Tl

78.

79.

o7 R Fi R F B awgare #
AT (38 7 wfter gwa 22

(A) Frameer g
(B) & fargr=
(C)=seita s
(D) fft frera=

TAEAT 3 FEEAT HT A ety § § G
F g o strar 2

(A) =TT e T T

(B) Ut sigeefiar w7 yorreey
(C)TaT=T=T greT AT

(D)yuFe HT-siaeofiT o sorreft

afefas & & g F 2 B s

% wads % forg Rt oft =rmarer s & wfe
FT T4 =i 7 awy §2

(A) TermT w=ft

(B) AT ¥ H=g wyrmefior

(C)zrgafy

(D) T AT AT

F & 7 FAwaw e ¥ e CBl T T
£ 7

(A) s #iT =iy

(B) ¢ft= #=r

(CYM. K. AT

(D) ofrerr Sfer
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80.

81.

82.

The Indian Parliament is composed of three

paris. First being President, what are the other

two?

(A) Prime Minister, Leader of opposition

(B) Chief Justice, Governor

(C)Member of parliament, Justice of high
courts

(D)Rajya Sabha, Lok Sabha

In which trial case did Mahatma Gandhi say —

“I should have known the consequences of

every one of my acts. | know them. | knew that

| was playing with fire. | ran the risk and if |

was set free, | would still do the same.”?

(A)In the Great Trial of 1922

(B) In trial of Chauri Chaura case

(C)In trial of Civil Disobedience case

(D)In trial of Champaran case

What according to Gandhiji will only end up

making the whole world blind?

(A) An ear for an ear

(B) Punishment to every one

(C)An eye for an eye

(D) British iaw

What is the best way to find oneself, according

to Gandhiji?

(A) To create awareness

(B) To lose yourself in the service of others

(C)To experience the poverty

(D) To win over the enemy

80.

81.

82.

83.

Wﬁﬁwmeﬁ?wﬁ%w%mﬁwﬁg.%

AT AT AT P

(A) werm=e=ft, wfirqer 3 Far

(B) 77 =raefisr, Trsaarer

(C)#¥= F waew, 37 =rgrerd F =g
(D) T, ST

e graer Sy 3 srgreny wrieft 3 vy v — iy o
FAH F wew F qftom F 9% & qar v ke
ATl # 7% A0 H Srerar ) F s E R A s
A 731 AT #Y e o shw AR & wo fr
T Zrar A, F qor oft g e

(A) 1922 % J= zrae &

(B) =TT =iy \vwrer ¥ vt i
(C)wfama srastm wrwer ¥ avaer F

(D) ==9Tr /THe ¥ 2rge §

ieSft 3 srpeTe A s w g A s AT
T

(A) T e % o o #

(B) ¥ F fag gve

(C)v sifer 3 fore zardy sife

(D) fafzer =it

TS 3 SETT, T A G 7 g =g
TEFT T 82

(A) STTEaT TaT e

(B) 58T it Fam & = Y gar w
(C)fAeimar =1 s 7%
(D)7 w% A g
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84. According to Gandhiji, what is Swaraj? 84. wiefisft ¥ ararme Terer | &7
(A)When we learn to rule our neighbours (A]%_W T AU TR 9T o e W sy

B) When we learn to rule our system
5 ! (B)WE'WW#EEIWWWWTWW%%

(C)99 g7 =% T AT FAT i Sy F
{D)mngﬁgﬁﬁwsmwmmﬂf
85. The statement I see God in every thread that 85, ugm“ﬁwuﬁmaﬁﬁ%mwa&hwﬁ

(C)When we learn to rule ourselves
(D)When we learn to rule our masters

| draw on the spinning wheel” is given by ST & = & Frear g, o w2
(A) Jawaharlal Nehru (A) SRt TE=

(B) Subhash Chandra Bose (B) 9T <z Ty

(C)M. K. Gandhi (C)M. K. iy

(D) Motilal Nehry (D)Hrfterrer Az

86.  In which speech Gandhiji said - “The charge  86. fi s F wisfrofy 3 FET 4T ~ ‘g freg srom
against us is that we have no initiative. How FATAT T & ey A TET TE A g AR Ew
can we have any, if we are to devote the m%wiﬂﬁ _{_%Ug ?;?;1 :;T ;_g
Precious years of our life to the mastery of a T FE?
foreign tongue™?

(A) Quit India Speech (A) 9T FST ST

(B) Dandi March Speech (B) =it = ey

(C)Banaras Hindu University Speech {C)m%m —
(D)Round Table Conference Speech (D) et i1 e —

87. Other than the famous Chauri Chaura incident ~ 87. g 514t <ty f gy HATET ST HHE ey &
that took place in Chauri Chaura, the place is GO 4T, g wrre oy 3 & oy & oo s 22
famous for its
(A)Dal and Gud Mandi (Pulses and Jaggery (A)T 7 1= wosy

market) (B) #resft ot
(B) Sabzi Mandi (Vegetable market) (C)Fret sy
(C)Machhii Mandi (Fish market) (D) 7 %1 Ty
(D)Fal and Phul Mandi (Fruit and Flower

market)
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88.

89.

90.

91,

92,

In his most famous quotes, Gandhiji

suggested we should

(A) Hate the sin and not the sinner

(B) Hate the sinner and not the sin

(C)Hate the British and not the Portuguese

(D)Hate the Foreigner and not the Indians

What are the two pillars of “Gandhism”?

(A) Demonstration and Protest

(B) Truth and Non-violence

(C)Talks and Seminars

(D) Violence and Diplomacy

The term given by Gandhiji which means

‘universal uplift' or 'progess of all' is

(A) Sarvodaya

(B) Antyodaya

(C) Saralikaran

(D) Shasaktikaran

Which of the following is NOT a book related

to Gandhiji?

(A) Trusteeship

(B) Prayer

(C) The Voice of Truth

(D) Witness

One of the major achievements of Mahatma

Gandhi in 1918 was two agitations against the

British landlords. Where did they happen?

(A) Champaran and Kheda

(B) Dandi and Puri

(C)Calcutta and Bombay (Now Kolkata and
Mumbai)

(D)Agra and Meerut

88.

89.

90.

91.

a2

aﬁaaﬁwﬁamﬁﬁ%ﬁ#,ugwﬁm
Rakt)

(A)IT & ST FTAT W e e &
(B)refY & sporm et =R s e &
(C)%&sr%wwmﬁqaﬂtgﬁwﬁ%aﬁ
(D)2t & spom ey =R e swreefvr &
‘Tt ¥ I wew ww y #2

(A) g9l ST e

(B) 5T 3T arfge

(C)amaf sz rfdt

(D)fEar iz Fefifa

wieftsft grer fuffea B qar o= R o
mﬁﬂﬁmw'wmﬁ'ﬁwﬁ‘%,a‘gw%?
(A) Tt

CGERER

(C)meefi=rzor

(D)FeriRReRTT

zﬁﬁaﬁwwﬂfﬁsﬁﬁﬁéﬂﬁﬂﬁ@

(A)g=EiferT

(B) =T

(C)zafeq stwm g

(D)fazm

1918 ﬁﬂmwfﬁﬁaﬁawﬁaﬁﬁ%w

Tt fifer st % frames 21 st on &
TRl g &2

(A) =¥ 3T By

(B) =1t sie gt

(C)FerFa &I weard (s Fremprar sie qear)
(D) AMTeT 3T =
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93.

5.

96.

After which incident, it's widely believed that
Gandhiji launched all-out Non Co-operation
movement?

(A) Battle of Plassey

(B) Indige Revolution

(C)Bengal Famine

(D)Jallianwala Bagh Massacre

A social boycott of which two categories of
revenue officials within the district made the
kheda non co-operation movement a
success?

(A) Mamlatdars and Talatdars

(B) Ameen and Tehsildar

(C)SDM and ADM

(D) Nayab tehsildar and Revenue officer
What are the starting and the end points of the
“Dandi March” respectively launched by
Gandhiji?

(A) Dandi and Surat

(B) Surat and Gandhinagar

(C)Ahmedabad and Dandi

(D)Jamnagar and Surat

Who dismissed Hind Swaraj of Gandhiji as
“‘completely unreal™?

(A)M. A. Jinnah

(B) Jawahar Lal Nehru

(C)Subhas Chandra Bose

(D)Sardar Vallabh Bhai Patel

93.

94.

95.

96.

F19 Y T F T, AT T F TF AT AL
3 wrieft & Qi =9 F seeg ke oF ¢
qr?

(A) =Tt it =TS

(B) e wifa

(C)=TTe =T FAHTT

(D)=TraiaTeT a1 TeEET

Tt 3 stax wrores st B & afoy 5

aTaTREF afgew ¥ A gegdm wEes w7 T
AT A7

(A) ITHETETE T TeAqETE

(B) &7fie i Asfie=

(C)SDM it ADM

(D)ATTE TEHIARIT AT TorET AfSEFTLT
I HT THME T TG T2

(A) =TT & g7

(B)g7a @ wide

(C) srewmmars e =it
(D)SITR=TE 3T g2a

“qUIA: SEATEAER” FE F e T F
TETTT A @I T R um?

(AYM. A. frs

(B) SraTET =T AEE

(C)IHT = &

(D) HLETE FoeT TS T
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97.

98.

99,

100.

In his Last Will and Testament, Gandhiji
suggested the disbanding of the congress
organisation as a political forum. What name
it and
constructive work organisation?
(A) Lok Satta Sangh

(B) Lok Sevak Sangh

(C) Lok Swabhiman Sangh

(D) Lok Swaraj Sangh

did he give to its succeeding

In his speech on the eve of the last fast,
Gandhiji called fast as a

(A) Last weapon

(B) Final call

(C)Process of self-purification

(D)Process of self-realisation

The worldwide protest against the status of

caliph by muslims was initiated in which of the
following movements?

(A) Shariyat Movement

(B) Hijab Movement

(C)Khilafat Movement

(D) Muslim Brotherhood Movement

In how many volumes the book "In Search of

the Supreme” was published, that was written
by M.K Gandhi?

(A4
(B)S
©)3
(D)2

97.

98.

99.

100.
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Ut ST s i At & aidish ¥ e
TISAE 5 % ® § FHH W0T 37 e F FT
e far om I T 4 T e
THAATCHS FT4 HET FT F47 AT =247 977

(A) ST T
(B) & &= #e
(C)tr= waTtorgTT &9
(D)7 F=wre T

ST SaaT it A Fer g7 waey s # aidfsh
A ITATH FT F AT BT a7

(A) sifem 2o

(B) ifam gerraT

(C)zmem-srfa it wliam

(D) wrem-arer Fr gfm

HHEHTAT 1T 0 57 amer wefrer & 2 &
e feraeardt ferr foer & & %19 & wieew

st T T ar?

(A) arfre sigrer

(B) fsmar siferery

(C) e stz

(D) gfeenT ard=m afdre

M. K. rift grer foredt € o1 ot ol 2 fiw o
g TR muEt § wefor fy e

(A)4
(B)5
(€)3
(D)2
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101. Which of the following is an operating system?

102. Which one of the following is a field that allows

103.

104.

105.

(A) Microsoft Excel

(B) Microsoft Windows XP
(C)Adobe Reader
(D)Microsoft Word

you to send a copy of the message to another

e-mail address?

{A)From

(B)To

(C)cC

(D)Subject Line

Which of the following is a Google Web
Browser?

(A) Chrome

(B) Internet Explorer

(C)Netscape

(D) Firefox

Which is an office suite of desktop
applications, servers and services for
Microsoft's Windows and Apple's OS X
operating systems?

(A) Google App Engine

(B) Adobe Reader

(C)Microsoft Office

(D)PageMaker

An e-mail consists of

(A) Only text

(B) Only files

(C) Only image

(D) Text, images, files, or other attachments

(A)yATERETR TR
(B)wrem T fAwsTe XP
(HE S ERIE
(DymTEHEIE TE

102. Frerfarfire & & ag w7 ot fies g S AT THST
#@Wm%—ﬁaqﬁnﬁaﬁﬁwﬁaﬁ .
%
(A)wH
®=
(cycc
(D)wr=se e

103. =z & I AT UF T 39 ATIALE?

(A)yFE
(B) E=ie WAL
(CyT==rT
(D) FATHFT
104, TTEEEIEE F BT e Tore % 08 X e
T St gz T & W AT E?
(A) T T ER
(C)EEIERIEES
(C)wTemETTE ST
(D)¥sTHTT

105, v £ # a7 ffRa g 82
(A) ¥ae e
(B) et HrEed
(C)Fa= o
(D) ¥z, eeH, THIAT AT A ATAALH
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108. What does HTTP mean for Internet? 106. Ez7z F Hasf § HTTP &1 o1F = 87
(A) High Text Transmission Protocol (A) BTE 29z ZiafRe Srere
(B) Higher Text Transmission Program (B) BT T FiaiHerT TrTH
(C)Highly Technical Transfer Program (C)BTe=iT TR rawe TrrH
(D)Hyper Text Transfer Protocol (D)BT2IX 3962 STHET Tl
107. Which is a popular software used primarily for 107 %I a7 UF FrH064 AiFaTT g S =,
creating documents such as letters, T, fereror i@, o, oo s
brochures, learning activities, tests, quizzes TIAT G FATTHE ST W"-’ F A F
and students’ homework assignments? fore e &9 & xS 87
(A)MS Word (AIMS 72
(B)MS Access (B)MS T
(C)Paint ()=
(D) Calculator (D) Fergei=t
108. What is loT for IT industry? 108. IT Z=0r & loT &7 31 =7 2ram 82
(A) Interest of Technology (A) T=F= 9w THATesir
(B) Internationalization of Technology (B) ZZA9TmeTTEoer St e torsit
(C)ldea of Transformation (C)wr=f=aT Ai% TEwHa
(D) Internet of Things (D)= aw feer

109. Which of the following is a free open source 108. st sirow =+ OS FRefofag § & F a1 27
0os?

(A) Windows 10 (A== 10
(B)iOS (B)ioS
(C)Linux (C)=Te=a
(D)Windows Server 2012 (D) fE=sTer 5dT 2012
110. Which device provides a way for a computer 110. T4 fRares, Fwze S ITATFATE a7 97y
to output data for communication with users or FEAE F AT qEIF A+ e 27 IemaA
other computers? FTH FT AT T FAT E2
(A) Memory devices (A) 7T Rames
(B) Output devices (B) smeyz feamew
(C)Input devices (C)zee Rarzw
(D) Processing devices (D)siafr feamea
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111. What is CC in terms of e-mail?
(A) Create Copy
(B) Carbon Copy
(C)Copy Content
(D) Copyright Copy
112. Dot Matrix Printer is a/an
(A) Memory device
(B) Processing device
(C)Input device
(D) Output device
113. Which of the following is FALSE about word
processing software?
(A) Word processing software can create, edit,
save and print documents
(B) Word processing software can format text,
such as font type, bolding, underlining or
italicizing
(C)Word processing software cannot correct
spelling and grammar
(D) Word Pracessing software can insert
elements from other software, such as
illustrations or photographs
114. What is BYOD for IT?
(A)Buy Your OId Device
(B) Best Your Opportunity Development
(C)Bring Your Own Device
(D)Buy Your Ordered Device
115. Which of the following extensions is used for
MS Excel 200772
(A) .docx
(B) .accdb
(C) .pptx

111.§-ﬂv%ﬁaﬁﬁc0wﬁ?
(A) iz =iy
(B) e it
(C)=TdT Fe=
(D)Fifrrzz Fify
112, Stz #feww ffer ox
(A) 7T ey &
(B) &t Rz
(C)ze Rarzw &
(D)srseye Rarew &
113,ﬁwﬁﬁwm%wﬁsﬂﬁﬁaﬁﬁmm
T 82
(A)TE SRR wiire stagiv 1 e, e
AT i f5ifE o ey 2
(B)ﬁmmmﬁﬁﬁiﬁmﬁ
@%WWW,%, sETaTRfT 47
o F Foer
(C) T TR Aiwzire srere Brerer sie ST
F1 31 T 7 T
(D)ﬁﬁﬁﬁnﬁqﬁmwmﬁvﬁﬁw
éﬂiwméﬁﬁﬁ:w@smmm

114, |TﬁBYODaa-ranfws‘m%?
(R)ATE 737 Siree Rz
(B) 3% T3 sitw=ifat feyeriir
(C)FT 137 iy Ry
(D)are qav 4é¢ fearey

115. MS Qﬁﬁzoo?%ﬁr{ﬁﬁﬁﬁ?mtz@ra
(A) .docx
(B) .accdb
(C).pptx

(D) .xlsx (D) .xIsx
M
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116. Which operating system is designed by
Apple?
(A) Windows 7
(B)Mac OS
(C)Linux
(D) Android
117. Scanner is afan
(A) Memory device
(B) Processing device
(C)Input device
(D) Output device
118. Which operating system allows multiple users
to use the same computer aE the same time
and different times?
(A) Multi-user
(B) Multiprocessing
(C)Real time
(D) Multitasking
119. Which of the following statements is FALSE?
(A) An input device sends information to a
computer system for processing
(B) An output device reproduces or displays the
results after processing the data
(C) An input device reproduces or displays the
results after processing the data
(D) Depending on the interaction, a device can

work both as input and output device,
referred to as I/O device

116, 59T ZTRT Hi AT HTL2T fRezar fRvmree fFar
= ?
A =7
(B)#¥ OS
(OEIEEES]
(D)ugiz=

117. FFT TE
(A)war fRarew
(B) STarfRiT Rarew &
(C)z e fearem
(D)smeeyz Rargm &

118. 7t = airaxfe fareewr, fafers svarrats 41 or
B FE FT UF & T A Rl weEt o s
F7 Y AgAfy FaT §2
(A) "ozt
(B) wivasiafEmr
(C)Fa=r zrzw
(D)y#fezarfEar

8. Fafefes # & #iw a1 waw o 27

(A) TF 37 fRamee wid e & forg sogee feew
H oo ST

(B) TF S3=YE fRarew 2=y WAt ¥ A wfom
F1 Esirew a7 v fihe Fwar &

(C)TF =79z Rarea ar aia3fET ¥ 7= afomy
F1 vrsgw a7 w= i wear &

(D) $H7:3T ¥ amene v fRarew T wi
Ar3ee Rarew 214 & w1 %7 aar 8, forg
/O feamew Fr wmar &
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120. which of the following services is/are allowed 120, T & 1 #t F=Tait #1 v foraw Fzafr GLET

_in a social networking site? # srgafa & v e

: I. @reate a p.ublic profile :I%T%Tﬁqmr SESHEN =t e o
II. Create a list of users to share connections 1. P % sftae st 1 2awr i o wor £
lll. View and traverse the connections within ! | &
the systdn :
(A)1 only (AyF |
(B)11 only (B)Fa= Il
(C) 1l only (C)ae i
(D)1, Il and Il (D)1, 1= ;

Space for Rough Work: _'
(]
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Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number
., and Ques:._ii;n Booklet Series on the OMR Answer Sheet
.E:areﬁJlly #hd sisn at t!e appropriate place. Please note
that in absence of th:a correct Roll number, Question
.Booklet Number and Question Bocklet Series and

S'ignalture on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions gi\.ien by the Centre
Superintendent / Centre ObserverI!Rcom Invigilator and
instructions given on the Question Booklet.

i

3. Candidates are not allowed to karry any papers,
notes, books, calculators, cellular phones, earphones,
scanning devices, pagers etc. to the Examination Hall.
Any candidate found using, or in possession of such
unauthorized material or involved in copying or
impersonation or adopting unfair means or behaviors will
be disqualified and may be subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 120 questions and the total
time allotted is 120 minutes. All questions are
compulsory and carry 3 marks each, Every correct
answer will get 3 marks and 1 ma:k will be deducted for

each wrong answer.
¥

5. The candidates must check that the Question Booklat
has 120 questions with multiple choice answers. If any
discrepancy is found, immediately report to the
Invigilator, so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is correct. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

Instructions / FrEer

o

7. Completely darken the CIRCLE so that the alphapet
inside the CIRCLE is not visible. Darken only gne circle._
for sach answer. The CORRECT and the 'WRONG
method of darkening the CIRCLEgn the OMR answer
sheet are given in the examz;ie below: ® ¥

Correct Method

0000

Wrong Method

cCeoe

0Q00
0®00
00®@0

8. Use black ink ball point pen for filling the boxes and
darkening the circle on OMR Answer Sheet. Do not use
pencil. ¢

9. In view of the limited times span, do not waste\your --,.1
time on a question which you find to be diffictht. Go on
solving questions one by one and come back to difficult
questions at the end. It is only an advice,

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
sandidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are

allowed to carry their Question Booklet from the
examination hall after the examination,

13. Questions are in Hindi and English. If any

discrepancy in either of the versions of question is \

2

present, then that question will be cancelled.

14. Candidates are provided with carbonless OMR_.. - « . -,'
answer sheet. They must submit the original copy to the
invigilator and take away the carbon copy with them, i

Page 32 of 32




